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SAMPLE PAPER - 2008

Class - X

SUBJECT - MATHEMATICS
TIME-3HRS                                                                                                    MARKS-80

                                                               SECTION-A
1) For what value of k will the following system of linear equation have no solution?

      3x+y=1, (2k-1)x+(k-1)y=2k+1                    (2)

2)Find the probability of getting a number less than 5 in a single throw of a die.  (2/3)

3)Find sum of first 10 natural numbers.                      (55)

4)Find distance between (-6,7)and(-1,-5).                 (13)

5) Without using trigonometric tables show that 

    Tan9.tan25.tan60.tan65.tan81  =√3

6)Find HCF of 24 and 404                  (4)

7)What is the nature of roots of 2x2 -4x+3            (no real roots)

8)Find a quadratic polynomial with sum and product of its zeroes as 0 and -10/3 respectively.  (x2-10/3)    
9)Find the sum of deviations of variate values 3,4,6,7,8,14 from their mean.  (0)

10)If secө=25/7 find tanө            (24/7)

                                                   SECTION-B   
11)Prove that 1/√3 is irrational.

12)Find a quadratic polynomial whose one zero is 5 and product of zeroes 30

                                  (x2-11x+30) 
     13) Solve x+y=6,x-y=2             (4,2)

      14)Solve 9x2-12x+4=0        (2/3)
      15)Which term of the A.P 5,13,21,….... is181   (23)

                                                          SECTION-C
     16 ) In ∆ABC rightangled at B,if AB=12cm and BC=5cmfind sinA,tanA,sinC,cotC

                                                               (5/13,5/12,12/13,5/12)

  17)If the point P(x,y) is equidistant from A(5,1) and B(-1,5) prove that 3x=2y

 18)ABC is right angled at C.If p is the length of the perpendicular from C to AB and AB=c ,BC=a,CA=b then prove that 1)pc=ab 2)1/p2=1/a2+1/b2     
19) P is the midpoint of an arc QPR of a circle. Show that the tangent at P is parallel to the chord QR.

20) Find the sum of first 40 +ve integers divisible by 6. Also find sum of first 20 +ve integers divisible by 5or6.                              (4920, 6300)

21) Divide a line segment of 8cm in the ratio 4:3 internally.

22)The radii of 2 circles are 8cm and 6cm.Find the radius of the circle having area equal to the sum of areas of 2 circles.                   (10cm)

23)A solid is in the form of a cylinder with hemispherical ends.The total height of solid is 19cm and the diameter of the cylinder is 7cm.Find the volume and surface area of the solid.                                          (641.67, 418)

24)Find the mean of the following.                                     ( 47.3)
	CLASS INTERVAL
	0-20
	 20-40
	40-60
	60-80
	80-100

	FREQUENCY
	3
	2
	5
	4
	1

	
	
	
	
	
	


25)Prove:  1-cosө   = (cot ө- cosec ө)² 

                 1+cosө                     
SECTION-D
26)Draw a circle of radius 5cm.From a point 13cm away from the centre construct the pair of tangents to the circle and measure their lengths.

27)A circle with centre O and of radius 4cm is inscribed in a triangle ABC.D is the point where circle touches BC and BD=6cm and DC=8cm.Find AB and AC.                                                                               (13,15)

28)Draw both ogives from the following.

	Daily income(Rs)
	No: of workers

	100-120
120-140

140-160

160-180

180-200
	12
14

8

6

10


29)The shadow of a tower when the angle of elevation of sun is 45º is found to be 10m longer than when it is 60º.Find height of the tower.   (23.65)
30)State and prove Pythagoras theorem.Using that theorem prove that AB²=2AC² if ∆ABC is an isosceles right∆ right angled at C.
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